6’ x 20’ Main Dock

Bill of Materials:

e Obtained from Local Hardware Store Or Marine Supply

15

Standard ~ Commercial  # Part Description

26522 25491* 1 Outside Corner Male

26524 26417% 2 Inside Corner

26523 26402% 3 Outside Corner End

26527 26406%* 4 Angle Bracket

24284 26409 5 Washer Plate

26530 6 3/8”x2-1/2” Carriage Bolt Set

or 26533 6 1/2”x 3” Carriage Bolt Set

24288 24290 7 3/8” x 2” Lag Bolt & Flat Washer
o ° 8 24” x 48” x 16” Float Drum
o o 9 20 Penny Screw Nails

Qty.

2
4
2
28
40
128
128
48
8

About 7 lbs.

* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

Lumber Materials:

2” x 8” x 20’ Side Stringers (237-1/4") 2
2”x8”x 6 End & Cross Stringers (69”) 6
2”x 8’ x 4 Short Cross Stringers (45-15/16"%) 10
2”x6”x 8 Deck Boards (74-1/2”) 40

* Should be individually measured.

Design Notes:

Tie Down assumes no responsibility or liability for the completeness
or accuracy of these drawings. Drawings are provided as a guideline
only. Dimensions are approximate. Variances do concur in lumber
and component parts, so please check all measurements on dock hard-
ware, float drums and lumber prior to drilling holes. Verify all dimen-
sions length, width and thickness of lumber.



6’ x 20’ Main Dock

) ¢ ¢ ¢ i
Q [« 47-7/16” >k 47-7/16” 47-7/16” > 47-7/16” > < 47-7/16” —>
11 1 " Side Stringer 1 1 " 1 11
y | - - | w | = | | - - || \
; 4 e = Eli —a—p (= lla aﬂi —m—p (==| Tﬂa = ng - A
a:-—.—la iy N iy 1" al—.—co
237 E I \0 I Cross Stringers — Q‘ i End
I _ i 1. i . ‘ . . Stringer
oy~ o= [Tt — [t = | — [t 5 | =
I iln il i ile 1A
23”7 || —End 69 »
727 Stringer o q A N o 72
AR il i il il H
t==—| |8 - - g ) - - dAL N : =1 | o= < < A1 | == = = =l ==
o ﬂ“-“ ShortCrossJA ﬂ“-“ l“o“ l“-“ o
237 Stringers q
=5 | ® o N o ol-| =
\ 03; E“?‘ o _ _ EITr = — T»Ia _ E_ m—p =] T»ﬂa o o = “?‘Ei - Y A
1 ! Side St‘ringe*r'/A ! ! b ! \G/ ! b
6
¥ ~Deck Boards™
i g ¥ [ i
8 2” 8”
' Design Notes
On Page 12
\2‘x4’x 16” -

Float Drums

16




8’ x 20’ Main Dock

Bill of Materials:

¢ Obtained from Local Hardware Store Or Marine Supply

17

Standard  Commercial # Part Description

26522 25491% 1 Outside Corner Male

26524 26417% 2 Inside Corner

26523 26402* 3 Outside Corner End

26527 26406%* 4 Angle Bracket

24284 26409%* 5 Washer Plate

26530 6 3/8”x 2-1/2” Carriage Bolt Set

or 26533 6 1/2”x 3” Carriage Bolt Set

24288 24290 7 3/8” x 2” Lag Bolt & Flat Washer
° ° 8 20 Penny Screw Nails
° ° 9 2’ x 4’ x 16” Float Drum

34
52
160
160
48
About 7 Ibs.
8

* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

Lumber Materials:

2”7 x 87 x 20 Side Stringers (237-1/2”) 2
2”x 8 x 10’ End & Cross Stringers (93”) 6
2”x 8’ x4 Short Cross Stringers (46”%) 15
2”x6” x 10 Deck Boards (98-1/2”) 40

* Should be individually measured.

Design Notes:

Tie Down assumes no responsibility or liability for the completeness
or accuracy of these drawings. Drawings are provided as a guideline
only. Dimensions are approximate. Variances do concur in lumber
and component parts, so please check all measurements on dock hard-
ware, float drums and lumber prior to drilling holes. Verify all dimen-
sions length, width and thickness of lumber.



8’ x 20’ Main Dock

< ; 237-1/2” ; >
G 47127 >« 47-1/2” >< 47-1/2” >« 47-1/2"—— > 47127 a
T ? I ? H 1)
a:‘: - $ 8 |1 =) =] i»ﬂa < 5 aﬂi ) =] Ila X . 0 . A 5
247 — = o .
¢ l—’ = . T %7@ D% %7' . . % %7@ DT %ﬁ' ¢ =
i it it ik i1 oo
24” Short Cross End
y U y U Stringers Stringer
l r— iﬂg o:ﬂﬂ .%%]a a:-%.%fla D%.%fla a:-»%'%—h Eﬂi —a—p
¢ |F - =1 - - ‘ 96”
i ﬂ.%\ﬂ.ﬂ ﬂ.%\ﬂ.ﬂ | .
24” »~ End | i
O

Stringer
! /
- d—1 N} == : * al?_ = B =
B L © @ B ]
Cross Stringers — 7

(=m—]| 1

“ 11 ! Side Stringerj !

¥~ Deck Boards Y

i o I o s o s o o o Y o o Y o o o o o Y | | o s o o o e

T Ter T T T e

18

g—| l-=
g |l—=—=
a1 |-=—

e

s
|
I
|
o

]
.




10’ x 20” Main Dock

Standard
26522
26524
26523
26527
24284
26530

24288

19

or

Bill of Materials:

Commercial

25491*
26417%
26402%
26406%*
26409%

26533
24290

O W10 Ul W 3

Part Description

Outside Corner Male

Inside Corner

Outside Corner End

Angle Bracket

Washer Plate

3/8”x2-1/2” Carriage Bolt Set
1/2”x 3” Carriage Bolt Set
3/8” x 2” Lag Bolt & Flat Washer
20 Penny Screw Nails

24” x 48” x 16” Float Drum

e Obtained from Local Hardware Store Or Marine Supply
* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

48

64

192

192

104
About 9 Ibs.

13

Lumber Materials:

2” x 8 x 20 Side Stringers (237-1/2”) 2
27x 8 x 10 End & Cross Stringers (117”) 6
27x 8 x4 Short Cross Stringers (46”%) 20
27x6”x 12 Deck Boards (122-1/2”) 40

* Should be individually measured.

Design Notes:

Tie Down assumes no responsibility or liability for the completeness
or accuracy of these drawings. Drawings are provided as a guideline
only. Dimensions are approximate. Variances do concur in lumber
and component parts, so please check all measurements on dock hard-
ware, float drums and lumber prior to drilling holes. Verify all dimen-
sions length, width and thickness of lumber.



10’ x 20” Main Dock

< 237-1/2” >
¢ ¢ ¢ ¢
<« 47-1/2” >« 47-1/2” >l 47-1/2” >|< 47-1/2” >« 47-1/2"— >
Q ! ! : ! 1
4 e = T = =] Tﬂa < < ET —e—p [==. Tﬂa < * = 7 A
T ° B = Side Stringer —j o e lo| = A :::
. N . Cross Stringers — A I
T e =T T =] [Tk = 114 d—t] |-=—
i iyt 1t 1t byl i
24”
oyl ||t =i ~1{jts =1l -
I i T i1 i iy |
247 Short Cross
N ) Stringers N I N I
L [l il 3. il | 17
Q—T_osz ;ﬂg ) §|7% g.:u L) ) E|,% %-:0 ) s 7 % ) ) gﬂ,% %.:., s ) Elé —
2 4” « End ‘\
Stringer i N End
l I il 1 i il 1 Stringer
QT =m—| ;lﬂ : afé %ﬂ : B alfé %:-:o B B aﬂfﬁL %-:o B * Elf@ ==
» -~ 0
24 I Cross Stringers — 1| N | -
l o I "4 ] E|Tr = =] ey t=m— i}a - - ﬂ*l! v

S

Side Stringer \ 11 \a

f—
u—
(=
==

¥~ Deck Boards™ ™\

o o s o o o o o s o o o o o o s o o s o o s o o o s s o o o v

2‘(x 8)’
Design Notes
On Page 12

20




3’ x 20’ Finger Dock

Bill of Materials:

Standard
26522
26524
26523
26527
24284
26530

24288

e Obtained from Local Hardware Store Or Marine Supply

or

Commercial
25491%*
26417*
26402%
26406*
26409*

26533
26536
24290

O 0O\ Uth W= 3

10

Part Description
Outside Corner Male
Inside Corner
Outside Corner End

Angle Bracket

Washer Plate

3/8”x 2-1/2” Carriage Bolt Set 128

1/2”x 3” Carriage Bolt Set 128

1/2”x 5” Carriage Bolt Set 16 )

3/8” x 2” Lag Bolt & Flat Washer 64 Lumber Materlals:. )

20 Penny Screw Nails About 9 Ibs. 27 x 10" x 20° Side Stringers (237.5”) 2

24” % 36” x 16” Float Drum 8 2”x10” x 3’ End & Cross Stringers (33”) 18
2”x6” x4 Deck Boards (38.5”) 40

* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

Design Notes:
Tie Down assumes no responsibility or liability for the completeness or accuracy of these drawings. Drawings are provided as a guideline only. Dimensions are approximate.
Variances do concur in lumber and component parts, so please check all measurements on dock hardware, float drums and lumber prior to drilling holes. Verify all
dimensions length, width and thickness of lumber.

21



3’ x 20’ Finger Dock

\ 4

< 237-1/4”
¢ ¢ ¢ QQ ¢ ¢ Q ¢¢ ¢
5.3/4” 3/4” -3/4” 1.5” Rear
<—14”-><—23 25” <« 23.257 <>« > > 23.25” <« 23.257 > <> 23.25” » 23.252»<«14” »| End
Stringer
I 7\ il 7\ T :
= IE *rllﬁ /1 = ‘ JecH] Hesll 7’.‘:., = ‘ H=eH
— . "\ Side / "o
Front —> Stringer
End
Stringer
- =ua. = & ml]a. = || m = e

pum—
pu—
e
=] |—1
v
L
& -
(o)
v =
Lo
3
g
Q
=
(=5 |

¥~ Deck Boards Y

i o s o i s o o o o s i s o o o s o o o s f s o W o s o o o s i i o I o s o s o o o s o i s o e o o s o o s f s o Vo o e o o o o e e

Y

2’}x IO”
Design Notes
On Page 12

22




4’ x 20’ Finger Dock

Bill of Materials:

Standard  Commercial  # Part Description
26522 25491* 1 Outside Corner Male 2
26524 26417* 2 Inside Corner 4 Lumber Materials:
26523 26402* 3 Outside Corner End 2 27 x 10” x 20° Side Stringers (237’1/4,)) 2
26527 26406* 4 Angle Bracket 32 2” x 6” x 4’ End Stringer (Front B 45))) 1
24284 26409%* 5 Washer Plate 48 22 x10” x 4 End & Cross Stringers (45») 17
26530 6 3/8”X2—1/2” Carriage Bolt Set 128 27 x 6” x 10’ Deck Boards (40 @ 50_1/ n) 20
or 26533 6 1/2”x 3” Carriage Bolt Set 128
26536 7 1/2”x 5” Carriage Bolt Set 16
24288 24290 8  3/8” x2” Lag Bolt & Flat Washer 64 Design Notes:
o ° 9 24” x 48” x 16” Float Drum 8 Tie Down assumes no responsibility or liability for the completeness
. ° 10 20 Penny Screw Nails About 5 Ibs. or accuracy of these drawings. Drawings are provided as a guideline
only. Dimensions are approximate. Variances do concur in lumber
¢ Obtained from Local Hardware Store Or Marine Supply and component parts, so please check all measurements on dock hard-
* Most commonly used. Other parts or options available, see product descriptions, pages 3-6 ware, float drums and lumber prior to drilling holes. Verify all dimen-

sions length, width and thickness of lumber.

? -




4’ x 20’ Finger Dock

< 237-1/4” >
¢ QQ ¢ ¢ ¢¢ ¢ ¢ Q ¢ ¢¢ ¢
5—3/4” 5-3/4” 3/4” 1.5” Rear
147> » <>« 23.25” > 23.25”7 > <>« 23.25” " 23.25”7 > <>« 23.25” >« 23.25” >« 14” »| End
11 U‘ r I T‘ ‘ J I jj | Stringer
TF@ HoeH] ‘—-é'o "EH %F;o o'é-—‘ ZHE = = Zhil LN 4 )
; - o ceep L o> q " 7
Front 487
End »
Stringer 45
los Seep O ©f
==—| |8 / g ==
0:; 4 o] flesii e ‘7-%.0 5 aﬂﬁ A_xrgo c:ﬁ-f‘ e el LE,: 3 §|f "2 = - A AN
[ [ |
“ [} ] 1 [ ! i \9
Side Stringer
¥~ Deck Boards™ gﬁ

ﬂ B0 g B Y i

. J;

24




10’ x 10’ Swim Dock

Bill of Materials:

Standard
26523

26524
24284
26527
26529
26530

24288

or

or

Commercial

26402%
26413%

26417%
26409%
26406%
26410

26533
24290

N = 3

[0 BN e e NV, B SO RN (8]

9

Part Description

Outside Corner End

Backup Plate (1 if used with inside corner) 9

Inside Corner

Washer Plate

Angle Bracket

Chain Retainer

3/8”x2-1/2” Carriage Bolt Set
1/2”x 3” Carriage Bolt Set

3/8” x 2” Lag Bolt & Flat Washer
24” x 48” x 16” Float Drum

20 Penny Screw Nails

e Obtained from Local Hardware Store Or Marine Supply

* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

25

About 6 Ibs.

Lumber Materials:

2”x8”x 10’ Side Stringers (120”) 2
2”x8”x 10’ End & Cross Stringers (117”) 6
2”x 8 x 3’ Short Cross Stringer (22-1/27%) 1
2”x6” x 10 Deck Boards (122-1/27) 21

* Should be individually measured.

Design Notes:

Tie Down assumes no responsibility or liability for the completeness
or accuracy of these drawings. Drawings are provided as a guideline
only. Dimensions are approximate. Variances do concur in lumber
and component parts, so please check all measurements on dock hard-
ware, float drums and lumber prior to drilling holes. Verify all dimen-
sions length, width and thickness of lumber.



10’ x 10’ Swim Dock

: 117”
[‘ End Stringer ﬂ
L L A
= \ = »
Cross
Stringers
\ | I

T ;mj/— Short Cross Stringer

g—] ==
a/ﬂ\t mee 1 2 On
—

Side

Stringer

i =
gl =
[ ) [ ) = :.J : | A4
[

G it

End Stringer
< 57-1/27—
< 60” >
¢
¥ ~Deck Boards™

2”x 8”
See Design Notes
on Page 12

2x4’x 16" __A

Float Drums

26




12’ x 12’ Swim Dock

Bill of Materials: Lumber Materials:

Standard  Commercial — # Part Description Qty. 2”x 8" x 12 Side Stringers (144”) 2
26523 26402* 1 Outside Corner End 4 27x 8" x 12 End & Cross Stringers (141”) 6
26524 26417* 2 Inside Corner 4 2”x8”x3 Short Cross Stringer (27-5/16”%) 1

26413% 3 Backup Plate 1 2”x6” x 14’ Deck Boards (146-1/2”) 25
24284 26409* 4 Washer Plate 20 * Should be individually measured.
26527 26406* 5 Angle Bracket 16
26529 26410% 6 Chain Retainer 1 '
26530 7 3/8”x2-1/2” Carriage Bolt Set 84 Design Notes:
or 26533 7 1/2”x 3” Carriage Bolt Set 84 Tie Down assumes no responsibility or liability for the completeness

24288 24290 8 3/8” x 2” Lag Bolt & Flat Washer 28 or accuracy of these drawings. Drawings are provided as a guideline

o K 9 24” x 48” x 16” Float Drum 8 only. Dimensions are approximate. Variances do concur in lumber

o o 10 20 Penny Screw Nails About 7 Ibs. and component parts, so please check all measurements on dock hard-

ware, float drums and lumber prior to drilling holes. Verify all dimen-

e Obtained from Local Hardware Store Or Marine Supply sions length, width and thickness of lumber.

* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

7 -




12’ x 12’ Swim Dock

r o
11 End Stringer
Fx - — s
=—| P "7 =
== |-g =)
28-13/16”
Q l (=] ilﬂ —m—)
| o )
o
28-13/16” Cross Stringers
- — ﬁ
{1l I |
Q (=m—| ;ﬂa EIT Tn:b B =)
™| |&—— Short Cross Stringer
836 | O | = o~ 44
Side =] F= .
l Stringer /n n Side
T =|| Stringer
t=m—| |58 (=m | —o—)
¢ =
=m— ;ﬂa \ﬂ \ﬂ )
T ) \ ) | )
28-13/16” w
L .
Q T =m— ‘ la —m—)
28-13/16”
l ==—] e —=—p
- : :
!:ﬂ' ! = 70-1/27— A\End Stringer
¥~ Deck Boards™ ¢ I!

O O O v v 1]

2”x 8”
See Design Notes
on Page 12

28




Typical U - Dock

Design Notes:

6‘x 16’ Tie Down assumes no responsibility or liability for the
Main Dock completeness or accuracy of these drawings. Drawings are
Section provided as a guideline only. Dimensions are approximate.

Variances do concur in lumber and component parts, so
please check all measurements on dock hardware, float
drums and lumber prior to drilling holes. Verify all
dimensions length, width and thickness of lumber.

4‘x 20°

> ¥ Finger Docks

Bill of Materials (6’ x 16’ Main Dock Section Only):

Standard ~ Commercial # Part Description .
26523 26402 1 Outside Corner End 2
26524 26417* 2 Inside Corner 4
26521 25400% 3 Outside Corner Female 2
26528 56407* 4 Female T Connector 2
° 26413* 5 Back Up Plate 2
24284 26409+ 6 Washer Plate 54 Lumber Materials (6’ x 16’ Main Dock Section Only):
26527 26406+ 7 Angle Bracket 40 2” x10” x 16’ Side Stringers (192”) 2
26530 8 3/8”x2-1/2” Carriage Bolt Set 176 27 % 10" x 6 End & Cross Stringers (69”) 8
or 26533 8 1/2”x 3” Carriage Bolt Set 176 27 10" x 6’ Short Cross Stringers: 6
24288 24290 9 3/8” x 2” Lag Bolt & Flat Washer 64 (8 @ 34-1/27%) & (6 @ 17-1/27%)
24%79 : }(1) I;f’)’(f;gi Ijollg”sel::tloat Drum é 2’k 6" x & Deck Boards (74-1/27) 33
; * Should be individually measured.
° ° 12 20 Penny Screw Nails About 7 Ibs.

e Obtained from Local Hardware Store Or Marine Supply
* Most commonly used. Other parts or options available, see product descriptions, pages 3-6

? -




¥ Deck Boards Y

Typical U - Dock

See Design Notes

on Page 12
« 192” >
¢ ¢ ¢ ¢ ¢ ¢
<« 35-1/47 —>| 17-1/2” |[«— 34-1/2” —> 17 1/2” |[«——34-1/2” | 17-1/2” |«— 35-1/4"—>
0. . g H L 1]
N ¥ H ‘,_:', £ ‘f - ¢ L ‘-zo B ‘f 5 f Bl ‘..:., £ ‘ ¥ i T 0
c:-—.—ﬂa o| = o = oy = o = op™ aﬂ—.—_:o
24’)
i | o R Nl =ifle Nl |
= ] ] ﬁ - ﬂ ‘ o o ﬂ - ﬁ - o o ﬂ - ﬂ - o o = Q
i ﬂ ﬂ ﬂ ﬂ ﬂ !
— C Short Cross/,/ é/
TOSS Stringers End 24”
Stringers —~ Stringer > 797
| L e | LA .
"N\ b7 | I | TN 7Za| e | N =2 | T | e )t ¢
op o} o ot o “ ol ﬂ
I ? || 2+
@ = - —Tm I % gHIH %— I % s f s Té_ij 1A g 7ml
\sz g Tl_rr | ﬁ T

4“ x 20’ Finger Dock

‘ , 4 ] 4
A 1] I 1
6 [ i \d Side Strmger

4“ x 20’ Finger Dock

30




